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C.

@
21.745.6 23.0+4.3
+3.9415.1 +1.1+12.7 BMI
18.0+2.6 17.6+2.4
BMI
VS
r=0.727 r=0.766 BMI vs
r=0.696 r=0.797
1
(cm) 145.8% 7.3 146.2 7.4
k) 38.4% 7.6 38.0+ 7.7
(D) 3.9 15.1 1.1% 12.7
BMI 18.0+ 2.6 17.6+ 2.4
) 21.7t 5.6 23.0+ 4.3
(mean = sd)
@ 50m 8.7£0.8
8.9£0.6 21.2+4.3kg
19.6+4.4kg 2 50m
r=0.371 r=0.587
2
50m () 8.7£ 0.8 8.9 0.6
(D)) 21.2+ 4.3 19.6% 4.4
(kcal) 669.0+ 233.1* 484.4+ 143.4*
17.5£ 5.9* 12.7+ 3.4*
(kcal/kg)
*p<0.05 (mean * sd)
r=0.706

{#RERk=(2)

{#RERR=E(s)

{$% (kq)

=& (kg)

r=0.742
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9.2+ 1.0

8.9+ 0.9 8.5+ 0.7
9.3+ 1.1
8.6+ 0.7 8.9+ 0.6
9.2+ 0.5
( 3 8.8+ 0.6
8.9+ 0.6 9.4+ 0.4
p=0.073
% 2.0
=
E
A 8o
3 50m
3
3
()
59.6 36 33.0
5.5 1.8
35.5
61 554 7.3
1.8

65

20.8+5.0
22.5+6.0 25.4+6.9
26.6+10.7
p=0.088 21.0+3.3
23.8194 25.2+4.3
27.7x0.7
p 0.01
p=0.628 p=0.073
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